Term 4 Last Quiz: Probabilities                                                   35 points


Name: _________________________________________________________


Group: _______

Section 1 – Express as a fraction in its most reduced form, the probability of the following:

1) _____ Rolling a 4 on a die.




2)   _____ Rolling a double 6’s on a pair of dice.

3) _____ Picking a face card from a deck of cards

4)  _____ Picking a black 4 from a deck of cards.

5) _____ Flipping a coin 3 times and getting a tail, tail and tail.
6)  _____Rolling a 1 on a die, and getting a head

 








  when flipping a coin.

Section 2 - Complete the probability tree below, and answer the related questions.

                    1st Draw 
       2nd Draw         Outcome
   Probability

G
  7) _______
11) _______
There are 16 girls and 12 boys in a 

G






secondary III class.

B
  8) _______
12) _______

Start

G
  9) _______
13) _______

B

B
10)  _______
14) _______

15) _____ If the names of two students are drawn in a row without replacement, 

    what is the probability that they are both girls?

16) _________________________________________ What is the universal set (Ω) for the above probability tree? 

Section 3 – Answer the questions related to spinning the pointer (spinner) on a board with (R)ed, (Y)ellow 

      and (B)lue colours arranged as shown below:


What is the probability of outcome:
                                                                                                                                                              Y

17) _____  to get a red and a yellow (R,Y) if the pointer is spun twice?                              R
                                                                                                                                                              B

18) _____ to get a yellow, a red and a blue (Y, R, B) if the pointer is spun three times? 

How many outcomes can you get with:

19) _____ 2 spins? 



20)  _____ 3 spins?

Section 4 – Creating the lotto 4/29. Imagine that a new lotto is created where a ticket holder can choose four 

       numbers ranging from 1 to 29 without replacement. Answer the following questions:

21) _____, _____, _____, _____ What numbers would be used to make up the numerator of the fraction?

22) _____, _____, _____, _____ What numbers would be used to make up the denominator of the fraction?

23) _______________________ The ticket holders chances of winning the 4/29 lotto are 1 out of ….

Section 5 – The letters of the word PROBABILITY are written on slips of paper. Two letters are selected at

       random. What is the probability of getting (B,B) if the:

24) _____ first letter is put back?



25)  _____ first letter is NOT put back?

Section 6 – The probability tree.

The Acme Skateboard Company (ASC) makes their skateboards in three main colours: (R)ed, (W)hite or (B)lue; and they trim them in either (t)aupe or (g)ray. 

26) to 34) In the space below make a probability tree to show the 1st pick as a R, W or B for the main colour,

          and the 2nd pick as t or g for the trim colour.

Acme Skateboard Company

           Probability Tree

       

 
   Main              

  Trim 

                               

 Colour


Colour 

Outcome
Probability

Start

List the universal set for the above probability tree.

35) Ω = _______________________________________________

MAT306_T4_T4


